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′
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
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...
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∣
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=
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=
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=
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+

(
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=
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
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
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...
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
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′
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
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

 =





1 0 0
−4 1 0
3 6 2
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


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lawpe zkxrnd z` xeztp
a1 = 0

b1 = −4a0

c0 = 24a0 − 6b0

c1 = 24a0 `ed λ = 1 xear sqepd oexztdy lawp
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1
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

0
1
−6
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0
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nind zphwd jx
 `id oexztl ztqep dhiy
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
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′

1 = x1

x
′
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ˆ
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ˆ
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t
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′
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=
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2 =
3
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′

1
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lawp ,zil`ivi
pi`d d`eeynd z` xeztp
λ1 = 2 + 3i

λ2 = 2− 3i okle
x1 (t) = e2t (c1 cos (3t) + c2 sin (3t)) zxfra x2 z` `vnp

x2 =
1

2

(

x1 − x
′

1

) aivp f`e x1 oexztd z` xefbp xnelk
x

′

1 (t) = 2e2t (c1 cos (3t) + c2 sin (3t)) + e2t (−c1 sin (3t) + c2 cos (3t)) if`
x2 = −

e2t

2
(c2 cos (3t)− c1 sin (3t) + c1 cos (3t) + c2 sin (3t))
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e2t

2
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−→x
′
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−→x

′
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



1
0
1



 et

A =





1 1 2
1 2 1
2 1 1


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lawp ,mini`zn r"e-e r"r `vnp
λ1 = 1

v1 =





1
−2
1





λ2 = −1

v2 =





1
0
−1





λ3 = 4

v3 =





1
1
1



 `ed ipbenedd oexztd
xh (t) = αe4t





1
1
1



+ βet





1
−2
1



+ δe−t





1
0
−1



mixfeb okle 1 `ed d`eeynd x
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α

′

e4t + β
′
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′
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α
′

e4t − 2β
′
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α
′

e4t + β
′
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δ
′

= 0

β
′

=
1

3

α
′
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δ = c1

β =
1

3
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α = −
2

9
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yp =

(

−
2

9
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)
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



1
1
1



+

(

1

3
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)
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



1
−2
1



+ c1e
−t





1
0
−1


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